BEINERE  SMTEE FHRTETEER) XEBACIVEETIRENHIET, 202559 BIfE  (R—A_—VITB#L£T)
v (48 54 64 74 84 A [9A 104 114 124 n|1H 2H 3A A
FEHM13:30 IR E:353 1 BB B ES JEH TR T DR 2
1%k x| BEBE P & 1 X + 1|x H | ThiA 1
VDR
REERGM13:30 T TR ZFHZ 4A14:30 K BRWE TR
2|7k & % + 2|k IS 2|& A 2
BB B3[72):
3| A + X ES3 B 3| & & A .3 3|+ P K 3
ZEYVDH ZH% 4F14:30 T EEES BA~TIVRE
4|4 B .3 & A 4 4 K|ZEZ 44814:30 1| 4|B 3 i3 4
TCLOH ZFhx 4714:30 | TELRE EFED Zh% 4T 14:30 T
5|+ A * ES 5|4 ] ES & 5|A & ES 5
TERA
1 x & | * 6|+ A & + 6% & & 6
7|A * ES A S 7|8 P & ] 7|% + + 7
- BN<7Y K& TR A B0
8|k |11:30 e & B ES & 8| A 3 + A 8| A |32 ehK | B 8
AR B
AFR(9:30~) BETRA ST RBR (e dE)
E1ES ﬁﬁﬁﬁtgﬁm%sﬁﬁ & | (BFY) A ES e 9|k * ] ES 9|& A A 9
13:00F:
T/#11:30 TRED 757 5218 T PR (A2 E)
10| A& + X ES B 104k & | R4 A i3 10|+ P P 10
TEE11:30 FRILTD iTox:] TEERZT WA BERAD H
11|& 3 & A 1|# + * ufn % 11
5 G o /Y L EZ701) RADH 757
12|+ A | (BHhY) * E P3 12|4& B ES & 12| A x * 12
£ 2315 ) AR—T 0D A 757
13]A X & ] * 13|+ & + 13|k & & 13
TF11:30 FERRAFD RIS LEZ 3
14|A + A ES 14| R P & ] 14| & + + 14
LR RS BRRE FRRE FRMIT A BEOR TR LSRR X 757
15[k K277 B P3 & 16(A K|RET 455 + A 15| A& H H 15
BARES ERRE ABRE TR 757 A I RBESET| ERRE ERRR
16| [1Fr40% TH& & A + 16]% & ] y 164 A A 16
CEERF I F RO TEAERE BRWE
17|k | B e x & ] 17| % & A RRAREWE ES 17|+ P 17
%4314;%?&
EHEFD) TFRRRR
18| ] & & A 18|k + X * 18|m % %* 18
FEX
19|+ A & e X 19|& ] LS & 19|A & * 19
TR EEPH FAOR
20( B ) & ] % 20(+ A & |l R + 20Xk & & 20
RS ED
21(A %* ES A * 21| R ES & ] 21k + + 21
TR BRH BARBS
22|k * B P & | BARVIEH 22|14 X + A 22| & H B 22
KEOR L BT B GRS RERER
23[% & A % + ﬁgmx@ 23[% * ] P 23( 4 A A 23
Y
WERA 2P ER [ ZES
24(% e P * ] 24|k & A ES 24+ IS P 24
HESH TRETR R EHE
25(& | FRekE BIERRK|B * & J;| 25(& e x ES 25( R % x 25
BREB [fd 23 EHEE D) EFFD TRt — o1 (57
26|+ A x + ES 26|& =] 3 & 26|H 26
e T2 CEEIEFIRITORED) TRERH TR
27| B J & B i3 27|+ A & E 27|k & & 27
REBH RS
28| H [13:30TF#& + A K3 28| H x & B 28|& + + 28
[ZEiT] B ER CEIRBRE
29|k * B P & Rk 29|14 3 * A 29| A& B 29
BRI
REBH
30|/ |13:30TF#& & H 3 + 30k x B P3 30|& A 30
I PR
31 + 3 H 31 & X 31|+ P 31




